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— %13 NYILRST 55 DY 25N RIOPY 92 170 RY
V"9 and the 2°%2517 did not argue regarding all nyuw, etc.

OVERVIEW

The X713 cites a ¥Xn™12 which states: A. 0°20m y¥"7 agree that all Mvw which
are 0"y YW MROWA 79w are Wwd. B. Regarding muvin Muw there is a
nvYY Rwa nponna (except for ¥"w1 1")); according to ¥ they are “Ww> while
the 0°non maintain they are 7109, C. 23"2w" states that 17X AX are 0°7w> [only]
in a Pnmn SR PRY 21pn. Our Moo explains this X092 in detail.

— 09Y5 D191 272IY 1IMNMNY 39 JY GN NMINIIYI DINYN MIVWN Yo EIIRLY
The explanation of the statement that all n17vw that are nIN>9y2 79w are
22> even though they were signed by 2'12¥ is not a universal law, but rather -

— 19359 %2 NN N23%7 92 NN
These nvw are w2 according to its laws and these other n1ww

according to its laws, meaning that -
— o2 MmNy *n950m 13 0313y SN DIWI Y1053 *PY Y91 MIVY INY

All other nyuw (except for 72y *NINWY 2°W1 "¥)) are WD in any event
(without further restrictions), however 2372y 9197wy 2521 W are W2 only
if there are 179%0% %7 and the NMX27Y have a%pmam nnw.

mooIN continues explaining the Xn>72:
— N0 1Y) PPN NNIVva W19 VTN WY %2 NN IPONI NY

omom ¥"1 did not argue (by mx27Y) they only argued when they were
processed by laymen; meaning (explains N80, [even]) if the MY who

signed had P22 nnw and there were 579507 7Y -
— MINIIY YON NYP0NM 1Y XY X 9PYWINY RIYY 1) KDY 9PWIN NIYPY 2297

Where »''1 is 9°w2» (in all types of m1uw) and there is no decree to be
5019 out of concern that it may come that they will be = w22 (by M)

" moon is negating the view that by mx27y all nvw are w3 in the same manner, as seemingly indicated by
the phrase 0*1w> 121 MX37Y2 27 MW 25.

* These mMuw are only to ascertain the truth; we assume that N7y do not lie.

3 5% 17°0m 27y are required to make the v and MM ww effective.

* ppram mnw are required so we do not mistakenly use the MX27Y as 77°0n 7Y assuming mistakenly that
they are Jewish.

> mpoIn is (seemingly) negating i1 71"72 *"wD, where w1 states KT 2109 191 197 MW VYT WYY 10T
i ®pw, which indicates that by v»777 ™MW the npY?nn between oM ¥ is without 771°0n *7¥ (however
with 717°0n "7¥ it is WD even according to the 2°mor). See 7w 0"7n on this "w7 (and see 7wyl 7"7N
footnote # 1). See »"n1 on the X7 7"7 " for an explanation why ¥"9 is °wan by mu1»7i according to >"w.
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even without 779°0% 37¥ since by MRDTY it is w3 without 71°0n *7v (by W

mMAvw); according to ¥ we are not concerned that people will confuse them -
— 0Y) 023 NIN 192N MIVY INWA PUDID DINONI

However, the 2251 are 012 by nmmuw axw (except for 1w 2w ws

0°72Y), because we are =113 that people will confuse mv177 with MR and be Pwan
without 77701 79.°

Mmoo explains why the 0°»51 are NVY IRW2A M3 and not by 2°72¥ "MW QW1 "V
— 7911915 NIIN 19901, 1Y K92 MNIIYA 1292927 MIVY INVIT

For by nymuw a8w, which are “w> by mR>7y without 79%0» 37, there is

reason to be 9713, for people may mistakenly assume that just as NX27Y are W3 even

without P72 MW 77°0n °7Y, the same applies to MV -
— 551510 9195 XY 19901 13 RIN Y9N NY MINIIYI 1999N DIW) Y102 HaN

However since 2321 513 are not "> [even] by niX>9y unless there are 7y
719°en there is no reason to be 9113 anything.

mMooIN continues explaining the ¥n»72:
— 915 179U 1IN N 9IIN HNIDN) 13 PYNIY )29

2'"awn said; even these are 1379w, etc. in a place where X2 do not sign -
— 1PRMN INIYS PRY DYPNA NIN 990U PR 0wl 209 9N Tamvs
This means even 2% “u% are not 2>°w> (with n"v and 7"v), unless it is a

place where Jews do not sign -
— MHN9Y? 1A 95 MPVY XY X9T DINNY IRIYS PHIN PRY Y159

The explanation of the phrase '1nnin PR PRW D1pR2', is that they do not
allow %822 to sign therefore NMX27y are 0w because it will never come

to mistakenly assume that the signers are >N=w>.
— 91159 923 PINMN IRIY? PRY DIPN 72999
And the X723 challenges the view of 1"2w7; ‘let us make a 719913 in those

% M7 " without 77°0n *7¥ are 2109 (even by MW TXW) because Mu1T presumably lie.

7 If we would be n1uw TXwa 1°wan with "y, people will say that M7 are like MX37W (they are both w3
MIuw Xw2), therefore N7 are also 1"y X721 7w> just like MX>7Y. See ‘Thinking it over’ # 1.

¥ We are not concerned that if we will be 9°wan by nw»Ta *ww with 77°0n *79 by o1 *v», we will also
mistakenly be 7°won without 77701 >7v, because there is no precedent to be 7°wdn the 0"y "vw (by “va
o°w1) without 777701 *7¥ (even by NIXDY), as opposed to MW XY where there is a precedent by nIX>7y.

? The term 1123 is used when the interpretation does not follow the literal meaning. The phrase 7w 19X A%
should mean that 3"2w" is lenient, saying even these (which you claim to be 9109) are [also] Tw>. However
the actual meaning is that 3"2w is qualifying the 07 of 0°w1 *v°3 and limiting it to a 1PN SR PRY DPA.
1 See following 3"2w 7"7 MooIn (and “Thinking it over’ there).

' However, in a place where X" do sign then even if it is MX7Y with 2"¥1 Pprm MY it is 2109, because
we may mistakenly assume that these NX37y are 7% and they may be used for 771701 >73.
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places where Y82w> cannot sign’ that it should also be 105 -
PPN PRY MNY ION P71 MNY NI PHRMN INIYIY D1PNAT 11 YIS

The explanation of this question (M 11 PAMM YR PRY Q1P7) is; since
in a place where 872> do sign you have made a decree outlawing nwmw

P2 out of concern that people may allow 9P PPRW nRw -
— PRMNY DYPN ION 9ITIY 933 1PRNN INIYS PRY DIPN )9 ON

Then indeed even in a place where X2~ do not sign we should also
decree that it is 109 because it may be confused with a place where 5
do sign -

mooIN anticipates a question:
— 9519 7901 1Y N7 29 HY 9N

Even though that this is similar to a 779°13% ;79913 which usually we are not 71 -
— WNY 19 191 9193 XY PINN 9919 199WNT 11D NWPNY AN DY Yan

Nevertheless it seemed logical to the ‘questioner’, since we are so much

concerned we should be concerned for this as well.
T NVOY WIAY PNY 13929 NI 19

This is how it appears to the "' to interpret this discussion.

SUMMARY

All agree 0°72v >NWY DW1 LA are NIXITWA WD only with »"wy »"y, and
Muw X2 they are 7w> in any event. 2’1 0 are MYTA2 WD according to
everyone only with n"v1 n"y (and if it is a PaNIT P8 1PRY Dpn according to
A"awT). MUY RW2A MVPTT VW are y"% qw> with »"vy »"y and 909
according to the 051 because we are 1"va X2W WK T,

THINKING IT OVER

1. In the following (3"2w7) 1"7, the " states that 3"2w" maintains *n73 1"y
only by 1v°; however by MW XY he maintains °n73 77»°nn >7v. In our 7"7
here, moon explains the reason the 2dn are MW7 "WVY Y01 (even with

"2 The X3 is asking (according to moown) that 2°w3 >v*x which are 2"y Hw MXWa 72w with »"w1 2"V in a
place that 1nmm 8> PR should be 2105 because it may be confused with a place where nmn PXw>.
However, even in a place where Pamn 2R, the reason why it is 7109 according to 3"aw" is because of a
77 of PP 1R YR 1°P. This should be considered a 37°132 7713, See “Thinking it over” # 2.

13 3"9w1 is concerned even by a case of P2 nw that we may use the 2"y for 0"y (if it is a PR w Dpn
1ann). This seems to be an unwarranted concern (for they have 1pnam nnw). It is apparent therefore that
according to 3"2w1 extra precautions need to be taken, therefore we should be concerned even if R PR
RN,
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n"n n"Y) is because of a 7T (without n'"y).'* Seemingly n1901n could have
said that the 022017 agree with 2"2wA that 7> 7"y MAvWw XWw2 and therefore
0"y M1 are M09 even if there are Hxw» n"y!'

2. When the &7n3x asked that we should be 9113 by a M ORW° PRW 21PH on
account of a YA Yx W w 01pn;'® did the XM mean in a case of XY MAw
P72 or (even) in a case of PprAm nnw?!’

3. Is there a difference between *"w7 and ndOIN regarding the view of
a2’

4 See footnote # 7.

15 See (TR X",
16 See footnote # 12.
7 See n'"m.

' See 7"ax # 108.
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